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sSevridlweo / ZOOLOGY

(5B wipmid <y Edle aifl / Tamil & English Version )

[ Qurds wHlGueamsar : 70
[ Maximum Marks : 70

&rev e : 3.00 wenfl CHyw ]
Time Allowed : 3.00 Hours ]

oidleenraet : (1) imargs odarss@sn sflurs ufard e erersm 6T GITLI & 60 6T
sfurisgé Qamerareb. FsLLgaild GonuimLder ienm
samsTaniiurerfLid 2 L anqwirs GgflellEsa.

2 Beon <dag souy @wwloma LLHGW T (P& 6US D (@GHLD
<y 5CaTHausnEbd Lweu@ss CauanBib. UL BT UMTEUSDE
Quenéled LweTU(HSSa|LD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@ - I/PART -1
GOy : () Siewesg amss@EnsELD dlenweflésa]. 15x1=15
(i) Qarpésiu Gerar wrpm elesafled sab ahLmLL flerLaws
CsmEsH556 PG el timeanubn Csisg er(seLb.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1

Wpsen (sl msge wruay HFms pped Hleaisd Glaiunu L Gpm :

(=1) SCID (<=y,) AIDS

(®) upmGHm () Biog Ha spHél

The first clinical gene therapy was done for the treatment of :

(a) SCID (b) AIDS

(c) Cancer (d) Cystic Fibrosis

L _ wpmib _ o ACurt wruay Gesafluur® LoD mILD

ApALIL@Sssme das@h Wessflphs ‘@Oré @uUyTar wr$l flepw
or.Garanauie 2 (Heursseir.

(=) QanCay, Gaev (<=1, Gy, Gomemmi
(@) QudsaGser, VLT () eumlgen, il
and proposed the classical model of Lac operon to explain

gene expression and regulation in E.Coli.
(a) Hershey, Chase (b) Jacob, Monod
(c) Meselson, Stahl (d) Watson, Crick

Ghasuiear Qrss eims O srarpred, A @55 ums CeTarL FHeng Wb
Hmib B @rss ams QsTarL. srujLd GTEUGUENS LITET DT L] 6UeNs enWd
Q@ maTig BT ?

(<) 10 opgud P17 (<) IATA b 1P 10

(@) 1°1° wpmib I°1° (F) AT opmyb 1010

If the Child’s blood group is ‘O’, the father’s blood group is “A” and the mother’s blood
group is ‘B’, the genotypes of the parents will be :

(@) IA10and IBIO () IATAandIBIO

) I°Oand BB (d ABandICIO
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4. &pPmI(A): XX - XO euans umed Blianrwid, gplenl. y&flaer, srluume
y&faer whmb Qe (Hé Hefleafled sramiu@éleamar.

&newd (R) : erhs elbg Qoe, el Qe smeyns Qewd g
ranuest Qurnss) Ca e il urd BliramuissnuBng.

(1) (A) wpmid (R) &, (R) eremug) (A) -wen sflwmer eflerdsd @dame.
(<) (4) wHOID (R) GramGGL Feup.

(&) (A) &l (R) seug).

(%) (A) womib (R) &, (R) eremig (A) -wller sfluren eflanésio.

Assertion (A) : XX - XO type of sex determination is seen in bedbugs, cockroaches
and grasshoppers.

Reason (R) :  The sex of the offspring depends upon the sperm that fertilizes the
egg.

(a) Both (A) and (R) are true and (R) is not the correct explanation for (A).
(b) Both (A) and (R) are false.
() (A) is true and (R) is false.

(d) Both (A) and (R) are true and (R) is the correct explanation for (A).
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5.

&Gy Qsr@ssL) UL @ereraup fléd efl wpmid seuprer UTE & W) & eper

L Hlwey L.

(i) @mnm’u@wrrqmda eeuaurgev @\ eNmBCSTDINSmeTs Qmei 2 9.

(ii) lﬂlmwdu@mrng_u_lg.é,]s&r urpsos swHAuder emsCastCaref, Lire)Ceare
WHOID CUTCHTCaraf GTeu (eiim FlevavaaT arantiiL(hdenmear.

(i) Quilw ensagrer@safd WEhaar BImSgIL6m sigl LY Bl wrer
agesL1anflen gseraer grent iLI(h e e,

() QermevCiomg uis Qsmdblanme @rss Ceuerameniigmigadr 2 DL HLpHE
Paulile) smissgDd wHm SiPlED&@EHD erhu@deman.

(1) (- &, (i) - o, (i) - saugy, (1v) - o

() () - o, (i) - o, (i) - soupy, (iv) - Beun)

(&) @ - o, (1) - seumy, (iii) - &, (iv) - eum)

(™) @ - poumy, (i) - o, (i) - peugy, (iv) - o1

Find the true and false statements from the following :

()  Plasmodium vivax is a digenic parasite.

()  The life cycle of Plasmodium involves 3 phases namely, schizogony, polygony
and sporogony.,

(iii) The Iarge schizont shows yellowish - brown pigmented granules called Schuffners
granules.

(iv) Plasmodium infection leads to Lysis of white blood cells results in cycles of
fever and other symptoms.

(@) (i) - True, (ii) - True, (iii) - False, (iv) - True

(b) (i) - True, (ii) - True, (iii) - False, (iv) - False

(¢) (i) - True, (ii) - False, (iii) - True, (iv) - False

(d) (i) - False, (ii) - True, (iii) - False, (iv) - True

Spaumaierapid ' ahs  ursefwub TEE@TD 2 HusHule
ThHUOSSLILHeuddama ?

(1) emiélemm Qeuag fEed)

(=) 861G TenCgen QFfeNaCu

(&) @yCurCarder sréamswicndla

() engGurGumeammey GQumieadav

Which one of the following bacterium is not involved in ethanol production ?
(a) Sarcina ventriculi

(b) Saccharomyces cerevisiae

(c) Ideonella sakaiensis

(d) Zymomonas mobilis
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EGy Qar@ssliul(Herer arps GCrTGLIGsTD 2igs FU 9| ralleness
Qararr(heTerg ?

(=1) @CrmCuorGamb Y’ (<) @CrrGLorGend 1
(@) &CrmGurGembd 19 () @CrrGorGembd 13
Which of the following chromosome has the highest gene density ?
(a) Chromosome Y’ (b) Chromosome 1

() Chromosome 19 (d) Chromosome 13

5Gyp Qer@ssuGetar sEeilsafie ag aerismeld @susslsUY aigLD
wHmD STUUSTE AnHuWe paoLQumb Ceweser HHLD Gyeeu cued
CuraTpeunens saTLHlW 2 seydpg ?

(=) HHSETETERILLES &(me (<) EEG

(@) uallsgLd sy (w) CVS

Which one of the following technique is used to monitor the foetal heart rate and other
functions during late pregnancy and labour ?

(a) Foetoscope (b) EEG

(c) Amniocentesis (d CVS

erdrIQUITHETEMET Sgla o6y o HLsH Qeiig Qauafd@d B Clged auams
wrgl ?

(1) Qareedl Glacser (<) Henareurhped Caesar
(@) GuerQaser (7)) Qarmenion Claeaer

B Cells that produce and release large amounts of antibody is called :
(a) Killer Cells " (b) Memory Cells

(c) Basophils (d) Plasma Cells

w&Guilsaiian ppald o (|eur@EL Heararané sflasaled ahg 2GCarsbd

2dlsrss sramliL(Epg ?
(1) BhisD (<) SO

In the E-waste generated by the mobile phones,
most abundant ?

(@) Gold (b) Copper (c) - Silver

(@) Gaueef () uGigWid

which among the following metal is

(d) Palladium

[ HBriys / Turn over
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11.

12.

13.

SipssamL eThs wrselLmis Carerrn #flwrsl QuTBSsLUL(Heteng) ?

(=1) <dICsrQuGamiiur -  esliugurer wrgadlLmo

(<=2) QwCarrCrmedwir - adlfEhs Wwrsedm

(@) gQulermfwumr - wrgeLmi Qéardmsse

() 1gevEwCermflwm - @MrEsHD wrEelLml

Which of the following menstrual irregularities is correctly matched ?
(a) Oligomenorrhoea - Excessive menstruation

(b) Menorrhagia - Painful menstruation

(c) Amenorrhoea - Absence of menstruation

Irregularity of menstruation

(d) Dysmenorrhoea

&Cws Qasrhdsiul(Herer abg elomiEsaflsn Ggr@uy SmT Lreneeuagled
smeLI LI (H&larme.

(=) @pHwé sr G e, srarmilmsd, wolorearsear

(<) QTE (PWed, SRET eredl, amLi &amlLll

(@) s e, GBS (gadTanrsiJ Ldalser, QeucTanarsamed Hifl

N (/) Sefmid enar, LOF @BIISET, &iq.Hel

Which of the following group of animals are the common fauna of the Thar deserts ?

(a) Gaur, Rhino, Antelope
(b) Jack rabbits, Kangaroo rats, Pocket mice
(c) The blackbuck, The Indian Spiny-tailed lizard, The white-footed fox

(d) Bobcat, Timber wolf, Black bear

GénaipeuamelnBle) TSl G 2-aT LTgSTLIL| QUaGEW STTHSS! A .2

(=1) 2u9iGemer STLSILLD (<)) LisedlLhiseT

(@) Gsélw LmisraseT
Which one of the following is not coming under insitu conservation ?
(b) Sanctuaries

(d) Zoological Park

() eamidlud LyhsnEser

(a) Biosphere Reserve

(c) National Parks
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14. Qembd ao_uﬁhﬂ sanail @ariQumEsnd perl Qb o uqf

(1) areoay (<) Coafsamer

(®) QereGarmAwir (FF) Quompdg

Paedogenetic Parthenogenesis occurs in -

)" Aphis (b) Honey bees
(c) Solenobia (d) Gallfly

15. @f Qandsal b apmig. efenGuis gwhlenauild eriiGurg Qmésts ?
(=t) Qandsal L gdlen siarey Quiigrs @mbsme.
(<) eWliflamser Gaitay Qg swelulie FHLEL Gurgl.
(@) St LTHOD GédaTs Hawaude.
(F) cuewens Gurge Qers Hlanaude.
A population will not exist in Hardy-Weinberg equilibrium if :
(@) The population is large.
(b) Individuals mate selectively.
(c) There are no mutations.
(d) There is no migration.-

L&) - 11 / PART - I

GOy : eemeuCuenid M1 efaméssEnéE el waflbsab. eflam eraim 24 -8
sL_Lmwwng eflenwal&se . 6x2=12
Note : Answer any six of the following. Question Number 24 is compulsory.

16. £bUT erammre eraian ? igen pédLsgiasde gCeaub gamlaear arpsis.
What is Colostrum ? Write any one of its significances.

17. smiGel @evaniing S& qm pranflaeons &rids da - Humuiu®sg)s.

Placenta is an endocrine tissue. Justify.

18. ameg i er Camflwm erermmed ereoen ?
What is Huntington’s chorea ?

19. el uflewmon wHmp 6Af  wflarmo fapéflamear  @abar®
ThdsssT_Hrenr Canubsss.

Differentiate divergent evolution from convergent evolution with one example each.

B [ SlLiys / Turn over
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20. Qeedlwe gmﬂmmﬁu@ﬁ@g@ Gremmmed erenmen ?
What is known as cytological isolation ?

21. Cadu pHeTEEr eTeueurml o LH@&weue griHE SOLSETTE
Qewou@&emman ?

How does chemical mediators act as physiological barriers ?

22. Qupens Cosetramenouden (pEEw LGTLSEMET eT(PSI5-

Write the key features of organic farming.

3. Seuliy UL iguedle auasliu@&srIuCHerer eTL_()) GUENGWITE b ) ey H&

wirenel ?
What are the eight categories of species in Red List ?
saer Qpransude, epeanble @rem® ukE Gu,

04, 2025 -1b BLENTIGRD, 2-@& LD
Suymauit. BT Bir wreur_goar 05 THS

getent it S HULIMLITE D6
aumswrar SHSSD (DS Gn&WITET

e world’s Population may face water
to be taken to reduce water pollution ?

eumw ?

By 2025, two thirds of th shortages. So, what are

the preventive measures

L@ - ML /PART -1II

GOy : stemauGuend Ml AanrisEps® oL wellsse]
33 -&(§ SLLMWLONS eQenLwafl&sa]| .
stion Number 33 is compulsory.

b, efewm GreuT
6x3=18

Note : Answer any six of the following. Que
25. @upliy B L6 eremped Gramen ? DIBET CUEDESEDET GHlETEGS.

What is regeneration ? Explain its types.

26. arepaiGuald ppern euray LTdeileeans QsrHm Crmismaerub ige
SifEdlamanb elarsEs.
Describe any three of the Viral STI and mention their symptoms.




27.

28.

29.

30.

31.

32.

33.
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warllg WwrLign) AL shan wédw Q&@EHMeET TGS,

Write the main goals of Human Genome Project.

Cuélvafl E5Cug whmb <1895 S56LE @uAL( CanLbsss.

Compare and contrast bacillary dysentery and amoebic dysentery.

2 g6l QUYID eIMp&ms erenmmed eraan ? @ rHSgIEsT_HLan oflend@s.

What is Commensalism ? Explain with an example.

o7 wrdoLLCL Ludiselid Sy slenseflan (Cry genes) Lkiflanar efaufésa,ib.

Explain the role of Cry genes in genetically modified crops.

orlwey wrpptiu’e 2 Wfsmer &aHNFGROD SeuarsEGeaners
P els@n Curg Ao sowmseald adi Gdwued olamerea|samer
o @& @GSenper. wrGwey wrppuiue o Wflamsearrd GCoflLésniquw
QYUSSHSET WITeneu ?

Deliberate release of GMOs ( Genetically Modified Organisms) into the environment
could have negative ecological effects. Write the possible risks of GMOs.

LIGEOLD @)ehe afleneray @ee el me Ll ereueurm @maE@n ?

How would be the earth without \green house effect ?

a1 s Qewd pdlandpsrs spuman dels. aps

20 GposU 185 S Wil
auanswrar adufgiorar eflanaTalsemer HEGDHDS THTCSTETEHLD ? SHHESHDTS
eSleufl&sayb.

e, if atrophy of thymus occurs in a child, what would be the serious

Imagin d face ? Explain briefly.

consequences the child woul

[ Sy / Turn over



3287 (NS) 10

L@ - IV /PART -1V

GUILY : SeOeSl cNlamTssEné @D eQenL_wefl&&a|b. 5x5=25

Note : Answer all the questions.
3. (=) waLGUY wHmL LTI (Sl < sed GLrélan D

anmiGurarseflan Lrideaner alleaTsEa.

. S0V

(<) “LOL OSSN - EUNTLIMIESED. ASDETET ST ETRIGEET 6T(LDSHIS-

M fNeors & e

(a) Explain the role of oxytocin and relaxin in parturition and lactation.

OR

(b) Define infertility. Write its causes.

35. (<) wallgaid sramiu@n urd GGCrTCorGsmlar Guiey rHOHL LHH
edleuflgg er(pgIs. '
360605
(=) “Lmrefefler @mellser LHMID <pevHCred epLIILITENL g ST <&l wienayl
gL urai@sstear SAnns THSHSSTL(H ST Y GLW' .
@&CerpGprLery Hlurutini®ssgs.
(a) Give an account of allosomal abnormalities in human beings.

OR

(b) "Darwin’s finches and Australian marsupials are suitable examples of adaptive
radiation” - Justify this statement.

36. (1) wruams GHluiksafler Apliyl LT smer U ig w6l (s
. S
(=) wGasNGumGsefle) LEAQUESSH Ber Quimib permenut ellemdses.
(a) List out the salient features of genetic code.
OR
(b)  Explain the process of transcription in eukaryotes,




37.

38.

=
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(=) urallwGrev s cfmarewtt LuELESS olebdw wrdflule
ereueumyl WUy Qusstd Qelwliu@GEeamg ?
S|V
(<) LDGGﬂ%gsr'r&seTﬂsi) S f&brs, uFarss sTarlu @D @ rau® L(p el e
Cpmiser wreney ? jeuheny efeuflésal.
(a) How is amplification of gene sample of interest carried out using PCR ?
OR

(b) th‘Nhat are the two most prevalent helminthic diseases in human beings ? Explain
em.

(=) Swepr ( @amseier o aCarpmid LDH eflauflésawb.
S|60605)

(=) peuGeurm 2 W@farpd @is6a SHNEGLMEES THL fenarLyfl Semmer.
2 Wy srrafsEsssrer elom@Esalic 26T Samsos6Ta QImESHET
cflen& 5.

(a) Explain the exotic species invasion.

OR

(b) Every living organisms responds to its environment. Explain the various types by
which organisms respond to abiotic conditions.

)

g

~000-



